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2.(b) =~
2 (c) 0, se U= €1 ou ez; nao existe nos restantes casos.
3.(a) % = 2xsin(z + y) + 22 cos(z + y);
%5 = 22 cos(z + y);
0
3.b) oL = H=i
of _ 2y .
oy ~— xzty?’
% = 2z,

3.(c) % = 2zy — ysin(xy);

g—; = 22 — zsin(zy) + 23
5 = 3yz%

3.(d) % = 222¢® TV sin(z + y) + ze” Y cos(z + y);
%5 = 2yze”” TV sin(z 4 y) + 2" Y cos(x + y);
% = " gin(z + y);

3.(e) of _ 7y2;—2’xy2+z;

2
% = 2ya¥ ¥ Inx;

2
9f — gv*+7 Ina;

3.(8) 95 = (0,22 cos(ay), )

2

oy - (2y7$2 COS(iL‘y),O);

% = (0,2zsin(zy), 3x22);

5.(a) k=500, e DyT(P) = —14/2;

5.(b) 0= (5, —3);

6.(a) Of _ Pf 62y? 24 + 2 cos(zyz) — zyz? sin(zyz);

0xdy
9% f 9% f

020r — 0x0z 8£L‘y3,23 + ycos(:nyz) - nyZSin(myz);

9 f

Geoy = g0z = 122772 + @ cos(ayz) — aPyzsin(ayz2);



G(b) 0%f _ 9*f 4xyz

dydz — 0zdy . (@2tyi+1)2’
2f _ 9*f _ 2x .
0z0x — Oxdz — x24y2+1°

0%f _ %

020y — x2+y2+1;

6.(c) o°f :4xyex2+y2+z2;

oyox

2 2 2,2 ,2
e = Bty = dwze” TV,
02 21,24 ,2

_ Ert) (T t) (@) ()
n(t)— (2 t)?

a

p = ) z) () (C wits)
n(Ct)— (2 t)?




